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(1) =fcd =1 SeRY ST

(2) F@a: |He Afasfe

(3) T F MER q

(4) TS GFH

Options :

212807112637. 1
212807112638.2
212807112639. 3
212807112640. 4

General Test

Group Number : 3

Group Id : 212807614
Group Maximum Duration : 60

Group Minimum Duration : 60

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 250

Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

General Test

Section Id : 212807716
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 50

Section Marks : 250
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2128072057
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 101 Question Id : 21280728051 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

z
A completes -~ of a work in 10 days. Then he completes the remaining work with the help of B

20
in 5 days. The time required for A and B together to complete the entire work is :
g
( ) 29 ays
5 Wy
(2) 5 days
= 100
(3) 17 days
(4) 5 days

Options :

212807112201. 1
212807112202.2
212807112203. 3
212807112204. 4

Question Number : 101 Question Id : 21280728051 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A" P 10 T A § o e o g e A B wer & 5 e § e

b1 R A ol B 2 e B e g 902
(1) Sy
@ o
® 7 f
@

Options :

212807112201. 1
212807112202. 2
212807112203. 3
212807112204. 4



Question Number : 102 Question Id : 21280728052 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

A trader sold half of his articles at 60% profit, half of the remaining at 20% loss and the rest was
sold at the cost price. In total transaction his gain % or loss % will be :
(1) Gain 20%
(2) Loss 5%
(3) Gain 40%
(4) Gain 25%
Options :
212807112205. 1
212807112206. 2

212807112207.3
212807112208. 4

Question Number : 102 Question Id : 21280728052 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

ek AT 7T Fgadl 3 39 9T i 60% TN W S9<d &, 99 g HHH & MY 97 1 20% 21 T 59
Tl § SR U9 1 9 g Y &9 <dl § | YU o< § IHeh! 81 AT T % TR 2

(1) @149 20%

(2) ®H5%

(3) T 40%

(4) @9 25%

Options :
212807112205. 1
212807112206. 2

212807112207. 3
212807112208. 4

Question Number : 103 Question Id : 21280728053 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




The price of rice increases by 30%. A family reduced its consumption so that the expenditure of
the rice is up only by 10%. If the total consumption of the rice before the price rise was 10 kg per
month, then the consumption of rice per month at present (in kg) is :

m 7=
@ 8=
(3) 8%
(4 8=
Options :

212807112209. 1
212807112210.2
212807112211. 3
212807112212. 4

Question Number : 103 Question Id : 21280728053 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

=Ed F1 M 30% 9% STl &1 T RER 3791 3I9RT 301 69 R oal © o =ed & STEm W 395 =54
! Fgd Had 10% &1 A ged I & Jd 3T Fo ITART 10 kg Hade &1 @ admm § 3HR 3T
BRI :

6
(1) 5 [ESUIC

1

(2) 8 [EDPIC
8. s

(3) 85 fwwme

5
(4) SE IETRI

Options :

212807112209. 1
212807112210. 2
212807112211.3
212807112212. 4

Question Number : 104 Question Id : 21280728054 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




If P(E) =0.05, what is the probability of ‘not E’ ?

(1) 0.05
(2) 0.45
(3) 0.95
(4) 0.55

Options :

212807112213. 1
212807112214.2
212807112215.3
212807112216. 4

Question Number : 104 Question Id : 21280728054 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
7fg P(E)=0.05, il ‘not E' &1 Wifemar = 2t ?
(1) 0.05
(2) 0.45
(3) 0.95
(4) 0.55
Options :

212807112213. 1
212807112214.2
212807112215.3
212807112216. 4

Question Number : 105 Question Id : 21280728055 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

By selling on book for ¥ 250, loss percentage is 10%. What is the cost price ?
(1) 277.7

(2) 250

(3) 285

4) 315
Options :

212807112217. 1
212807112218.2
212807112219.3
212807112220. 4

Question Number : 105 Question Id : 21280728055 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




T G&ih hl 250 FIU H o= T 10% 1 B 1 SHeRT 3hd Hed 1 & ?

(1) 277.7 9T
(2) 250 F9Q
(3) 285 W
(4) 315 F9Q

Options :

212807112217. 1

212807112218.2
212807112219.3
212807112220. 4

Question Number : 106 Question Id : 21280728056 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

If the mean of 5 observations x, x+2, x +4, x +6 and x + 8 is 11, then value of x :
(1) 7

(2) 43

3) 51

(4) 8
Options :

212807112221. 1
212807112222.2
212807112223. 3
212807112224. 4

Question Number : 106 Question Id : 21280728056 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

gfe 5 oaediml x, x+2, x+4, x+6 and x +8 T HEH 11 8, I x BA1 ;

1) 7
(2) 43
(3) 51
(4) 8
Options :

212807112221. 1
212807112222.2
212807112223.3
212807112224. 4

Question Number : 107 Question Id : 21280728057 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The surface area (in m?) of a sphere of radius 7 cm is :

Usem = EJ
7
(1) 0.0616
(2) 6.16
3) 61.6
(4) 0.616
Options :

212807112225. 1
212807112226. 2
212807112227.3
212807112228. 4

Question Number : 107 Question Id : 21280728057 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

7 cm 5= 9@t e & gfes &3 (@t der §) wa @

-2

(1) 0.0616

(2) 6.16

(3) 61.6

(4) 0.616
Options :

212807112225. 1
212807112226.2
212807112227. 3
212807112228. 4

Question Number : 108 Question Id : 21280728058 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

¥ 800 becomes ¥ 956 in 3 years at a certain rate of simple interest. If the rate of interest is increased
by 4%, what will ¥ 800 amount to in 3 years :

(1) ¥1,020.80

(2) ¥1,025

(3) 1,052
(4) 1,050
Options :

212807112229. 1
212807112230. 2
212807112231.3
212807112232. 4



Question Number : 108 Question Id : 21280728058 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T T QR =4 X W 99 H 800 FUT 956 FUU 3l Sd & | Al 1S SL 4% 98 Sl & dl 800 F9T,
3ad | foham w9 g S ?

(1) % 1,020.80 T
(2) %1,025 &9
(

3) 1,052 %¥9C
(4) 1,050 F9Q
Options :

212807112229. 1
212807112230. 2
212807112231. 3
212807112232. 4

Question Number : 109 Question Id : 21280728059 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A boy is running at a speed of p km/h to cover a distance of 1 km but due to slippery ground his

speed is reduced by q km/h (p > q). If he takes r hours to cover the distance, which of the following
condition is true :

(1) %=(p-q)

(2) T=(p—1q)
=1
() pPtq
(4) r=p+q
Options :

212807112233. 1
212807112234.2
212807112235.3
212807112236. 4

Question Number : 109 Question Id : 21280728059 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




T dehl ' p’ frariet i He i ufa 9 1 fraimie g T & fau <ie w1 81 W feeer arell
STHH 2 ¥ 3 i g FRAMR g S FH AT R (p>q AR W @ R @ wA H v SR
g, aa Fre o o o ferfa ‘e

(1) %=@—®
2) r=(p—9
po L
(%) pt+q
) T=piy

Options :

212807112233. 1
212807112234.2
212807112235.3
212807112236. 4

Question Number : 110 Question Id : 21280728060 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which one of the following numbers is not a prime number ?

(1) 241
(2) 337
(3) 391
(4) 571
Options :

212807112237. 1
212807112238.2
212807112239.3
212807112240. 4

Question Number : 110 Question Id : 21280728060 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
e § M S19T TE T § 2
(1) 241
(2) 337
(3) 391
4) 571
Options :

212807112237. 1
212807112238.2
212807112239.3
212807112240. 4

Question Number : 111 Question Id : 21280728061 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
x - Y - .
¥ B uapbte =28 [ gpea—00) (a-bjEeboog Soovans ofedyrein:
(1) a+b+c
(2) a2+b2+c?
G 0
(4) 1
Options :

212807112241. 1
212807112242.2
212807112243.3
212807112244. 4

Question Number : 111 Question Id : 21280728061 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
afe - = . = - +y+z HHA E
(b+c)yb+c—2a) (c—a)(c+a—2b) (a—b)(a+b—2c)’x yri e
(1) a+b+c
(2) a2+b2+¢?
3 0
4) 1
Options :

212807112241. 1
212807112242.2
212807112243.3
212807112244. 4

Question Number : 112 Question Id : 21280728062 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

How many 3 digit even numbers can be formed from the digits (0 —9) if repetition of digits are
allowed ?

(1) 350
(2) 400
(3) 450
(4) 1000
Options :

212807112245. 1
212807112246. 2
212807112247.3
212807112248. 4




Question Number : 112 Question Id : 21280728062 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
7fe iRl 1 SeTH Y ATAM T, T (0—9) F FFat 6T i i THGEn IE ST gehdl §
(1) 350
(2) 400
(3) 450
(4) 1000
Options :

212807112245. 1
212807112246.2
212807112247. 3
212807112248. 4

Question Number : 113 Question Id : 21280728063 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The sum of an Infinite geometric series is 4 and the sum of the cubes of the terms of the same GP is
192. The Common Ratio of the original geometric series is :

i
M 3
1
2 5
1
® 7
1
4 ~3

Options :

212807112249. 1
212807112250. 2
212807112251.3
212807112252. 4

Question Number : 113 Question Id : 21280728063 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




T S T[UIGE STsRH ol A1 4 €, 35 J07 o U< o ©F 1 ART 192 € @ o Ui 407 1 7914 ¥

1
M 3
1
2 —3
1
® 7
1
@ —7

Options :

212807112249. 1
212807112250.2
212807112251. 3
212807112252. 4

Question Number : 114 Question Id : 21280728064 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A bag contains 6 red, 4 blue and 10 white balls. A ball is picked from the bag at random What is
the probability that it is neither white nor blue ?

20
o
3
¢
2
@ =
1
4 5

Options :

212807112253. 1
212807112254. 2
212807112255.3
212807112256. 4

Question Number : 114 Question Id : 21280728064 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




T 9t T 6 e, 4 A 991 10 S S §1 U 9t &l Ot W A e S €, et it
1 T afer =1 a1 e € 1 € Tg ?

20
M -
3
2 10
2
® 3
1
4 5

Options :

2128071122531
212807112254.2
212807112255.3
212807112256. 4

Question Number : 115 Question Id : 21280728065 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The volume of a sphere of radius r is obtained by multiplying its surface area with :

4
1 3
T
2 3
4r
G 3
(4) 3r

Options :

212807112257. 1
212807112258.2
212807112259. 3
212807112260. 4

Question Number : 115 Question Id : 21280728065 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




forlt ¢ fooen aret et & T St ot forger e 7o A R 3t e arel et T STrae WTe 2 €

4
M 3

T
(2) 3

4r
® 3
(4) 3r

Options :

212807112257. 1
212807112258. 2
212807112259. 3
212807112260. 4

Question Number : 116 Question Id : 21280728066 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Find the area of an equilateral triangle each of whose sides measures 4 cm :

(1) 43 cm?

(2) 43m’

(3) 343 cm?

(4) 343 m?
Options :

212807112261. 1
212807112262. 2
212807112263. 3
212807112264. 4

Question Number : 116 Question Id : 21280728066 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

IH HHSE I &I T e TST8eh! 91 4 FHI. © ¢
(1) 43 &2

(2) 43 HI2

(3) 33 &2

(4) 343 Ht2

Options :
212807112261. 1
212807112262.2



212807112263.3
212807112264. 4

Question Number : 117 Question Id : 21280728067 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

If CE||DB, what is the value of x:

(1) 45°
2) 30°
(3) 75°
(4) 85°
Options :

212807112265. 1
212807112266. 2
212807112267. 3
212807112268. 4

Question Number : 117 Question Id : 21280728067 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

7If& CE||DB ¥ a1 x %1 |11 8F1

(1) 45°
2) 30°
(3) 75°
(4) 85°
Options :

212807112265. 1
212807112266. 2
212807112267.3



212807112268. 4

Question Number : 118 Question Id : 21280728068 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

A man standing on the bank of a river observes that the angle subtended by a tree standing on the
opposite bank is 60° on his side of Bank. When he moved away 24 m from the bank, he finds the
angle to be 30°. Find the breadth of the river :

(1) 12
2) 18
3) 26
(4) 20

Options :

212807112269. 1
212807112270.2
212807112271. 3
212807112272. 4

Question Number : 118 Question Id : 21280728068 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T2t % TR el U oAfe 3197 foradia formm o2 feord Tk U2 1 60° 3 101 § Sl &1 AR & 24 Hirew
e B24 92 &€ U 1 IV 30° U1 &, O 76l i 9ISk &M :

1) 12
2) 18
3) 26
(4) 20
Options :

212807112269. 1
212807112270. 2
212807112271.3
212807112272. 4

Question Number : 119 Question Id : 21280728069 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Which of the following statements are incorrect ?

(A) Volume of a cone= % mr°h
1 .3
(B) Volume of a cone= 7 T h
2
(C) Volume of a hemispere= 3 e

(D) Volume of a hemispere = 3 ar’

1
(E) Volume of a cylinder = 5 wrh

Choose the correct answer from the options given below :
(1)  (A);(B) and (D) only

(2) (A), (B) and (C) only
(3) (A), (C) and (E) only
4) (O, (D) and (E) only
Options :

212807112273. 1
212807112274.2
212807112275.3
212807112276. 4

Question Number : 119 Question Id : 21280728069 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




e § &9 o1 %Y TTold §

(A) T H T =%‘rrr3h

; 1
(B) ¥ Wl A = g‘n‘rzh

2
(C) G i P = 2 mr
2
(D) SFEA 1 ST = e
1
(E) aaﬂwaqmaq=§m3h

= fou Tu fomedi § @ WE ST T T Hif9T ;
(1) 9 (A), (B) T (D)
(2) I (A), (B
(3) @ (A), (O) T (E)
(4) 9@ (C), (D) T (E)
s 12275, 1
212807112274.2

212807112275. 3
212807112276. 4

Question Number : 120 Question Id : 21280728070 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

The difference between two numbers is 24. If one number is 2 times the second. Then the two
numbers will be :

(1) 36, 12
(2) 48,24
3) 32,8
4) 12,6
Options :

212807112277. 1
212807112278. 2
212807112279. 3
212807112280. 4

Question Number : 120 Question Id : 21280728070 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




<1 Hemsdl 1 TR 24 T Afe vgell Hen g SE it S 21 a1 39 Hemsd il i &1
(1) 36,12

(2) 48, 24
(3) 32,8
4) 12,6
Options :

212807112277. 1
212807112278.2
212807112279.3
212807112280. 4

Question Number : 121 Question Id : 21280728071 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Facing towards North, Ravi walks 30 m. He then turns left and walks 50 m. He again turns left
and walks 30 m. How far is he from his original position and towards which direction ?
(1) 30 m, North
(2) 20 m, East
(3) 20 m, South
(4) 50 m, West
Options :
212807112281. 1
212807112282. 2

212807112283.3
212807112284. 4

Question Number : 121 Question Id : 21280728071 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

S faen =1 $iR g7 #h o 30 WX I §, 79 98 90 gedl € 3R 50 HiX Fad §1 98 R 9 g
® @R 30 Wi g ¥ 1 9% 1wt g feafa § forg foon ¥ o) fraft g2 82

(1) 30 "X W

(2) 20 e gd

(3) 20 Hiex fam

(4) 50 Tz ufygm
Options :

212807112281. 1
212807112282.2
212807112283.3
212807112284. 4

Question Number : 122 Question Id : 21280728072 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




[Comprehension IMCQ |

Find from amongst the figure, the one which resembles the pattern formed when the transparent
sheet is folded along the dotted line.

<

(4)

Options :

212807112285. 1
212807112286. 2
212807112287.3
212807112288. 4

Question Number : 122 Question Id : 21280728072 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




e gReelt vite @ forgfend W & Wy Higd € 1 o7 e & | areft STieRfa 3|

(4)

Options :

212807112285. 1
212807112286. 2
212807112287.3
212807112288. 4

Question Number : 123 Question Id : 21280728073 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Find out the wrong number in the sequence :
40960, 10240, 2560, 640, 200, 40, 10

(1) 40
(2) 640
(3) 200
(4) 2560

Options :

212807112289. 1
212807112290. 2
212807112291. 3
212807112292. 4

Question Number : 123 Question Id : 21280728073 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Y H & TS o e Fd

40960, 10240, 2560, 640, 200, 40, 10
(1) 40

(2) 640

(3) 200

(4) 2560

Options :

212807112289. 1
212807112290. 2
212807112291.3
212807112292. 4

Question Number : 124 Question Id : 21280728074 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Two statements in the following questions, followed by two conclusions I and II. Read the conclusion
and decide most suitable answer.

Statements : All horses are goats.
No goat is a donkey.
Conclusions :
(I)  No horse is a donkey.
(II) Atleast some goats are horses.
(1) If only conclusion I follows.
(2) If only conclusion II follows.
(3) If both conclusion I and II follows.
(4) If none of the conclusion follows.

Options :

212807112293. 1
212807112294. 2
212807112295.3
212807112296. 4

Question Number : 124 Question Id : 21280728074 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




=1 997 H <1 e AR I o 1= < Fehe 1 SR 11§ end bl Uge Had S ST ol e ol
HUA : [t Hre SR B
IS TR T A )
forerd -
() e Hrer T T
) 9 ° FHA FD THT =E T
(1) Afg Faat F=hd [ STE HLE 2|
(2) afe Faa ferd 11 A7 e
(3) afg St frepd 1 &R I 1979 &% 21
(4) Afz FE off faerd e & wear 21

Options :

212807112293. 1
212807112294. 2
212807112295. 3
212807112296. 4

Question Number : 125 Question Id : 21280728075 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Look at the statement and mark the correct answer on the conclusions that follows :
Statements : A. Shubham is my cousin.

B. A cousin may be a aunt’s son, uncle’s son or son of parent’s step-siblings.
Conclusions :

(I) ~ Shubham is my sisters son.
(II)  Shubham is my uncle’s son.
(1) Only conclusion I follows.
(2) Only conclusion II follows.
(3) Both conclusion I and II follows.
(4) Neither conclusion I nor II follows.

Options :

212807112297. 1
212807112298.2
212807112299. 3
212807112300. 4

Question Number : 125 Question Id : 21280728075 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




HYF HI <9 37 feu 7w ferd W g s = fatEa =5

HIA : A, IV AU et o9 #)
B.  HE WE 37U R W2, 3THe KT o A G191 F Giael TE-S.T 1 92 B
TFHa1 B |

femd
1) 99 9 5 F +4 )
(II) ¥ HL =71 1 92T B
) Afe hae Frshd [ STE0 &l 2|
(2) afg kaed FreRd 11 SFTE & 2
) af S frssrd 1 8TR I steer &3 €1
(4) Afg #g off Frowd s 7 &L B

Options :

212807112297. 1
212807112298. 2
212807112299. 3
212807112300. 4

Question Number : 126 Question Id : 21280728076 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Five children Arun, Bhuvi, Charu, Deepak and Emmy are sitting along the corners of a pentagonal
table facing the centre. Bhuvi is between Emmy and Charu. Deepak is to the right of Emmy. Who
is to the left of Charu ?

(1) Bhuvi

(2) Arun

(3) Charu

(4) Deepak
Options :

212807112301. 1
212807112302.2
212807112303. 3
212807112304. 4

Question Number : 126 Question Id : 21280728076 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




Tie I 760, V&, 9%, <9 SN 3 Uk YHRIg Wl o il UX g ki SR GE e 93 ¥ | yE,
Taf SR =T & W9 931 T SiUe, 3 g 81 WE o 9l 3IR & § 2

(1) ot

(2) SI&T

(3) =&

(4) <Iuh
Options :

212807112301. 1
212807112302. 2
212807112303. 3
212807112304. 4

Question Number : 127 Question Id : 21280728077 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Find out the figure that can be formed from the piece given below :

N
0 I

(4)

elclcl®

Options :

212807112305. 1
212807112306. 2
212807112307. 3
212807112308. 4



Question Number : 127 Question Id : 21280728077 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

=1 feu U AT FF STHfaE § RA-H SAHA I S Hehell €, T I :

N
0 I

(4)

alEle

Options :

212807112305. 1
212807112306. 2
212807112307. 3
212807112308. 4

Question Number : 128 Question Id : 21280728078 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Amar is 16™ from the left end in a row of boys and Vishal is 18 from the right end. Satish is 11t
towards the right of Amar and 3" towards the right of Vishal side end. How many boys are there
is a row ?

(1) 45
2) 26
(3) 39
(4) 41

Options :




212807112309. 1
212807112310.2
212807112311. 3
212807112312. 4

Question Number : 128 Question Id : 21280728078 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

TAEHI i U Ukt T TR 918 BR Y 16 F T W E IR faener T B8R 4 18 & T W T Hdw, TR 9
TH & 11 & e W € oiR faumer | g iR | e v W B dfew A foran e ® 2

(1) 45
2) 26
3) 39
4) 41
Options :

212807112309. 1
212807112310. 2
212807112311.3
212807112312. 4

Question Number : 129 Question Id : 21280728079 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Choose the correct mirror image :

XA

(1)

Options :

212807112313. 1
212807112314.2
212807112315.3
212807112316. 4

Question Number : 129 Question Id : 21280728079 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Q—Eﬁmgﬁfﬁ’lﬁﬁ

S
(1) y T
2) l
O o :
(4.) . AKX

212807112313. 1
212807112314.2
212807112315. 3
212807112316. 4

Question Number : 130 Question Id : 21280728080 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Commemoration of national days should always be encouraged in schools and colleges. Which of
the following statement given below is a strong argument :

(A) This type of commemoration gives opportunity to children and youth to value to contribution
of people who built our nation.

(B) There is nothing wrong in celebrating a day and enjoy once is a while.
(C) These events hamper the focus of students from regular study.

(1) Argument (A) and (B) are strong

(2) Only argument (A) is strong

(3) Argument (B) and (C) are strong

(4) Only argument (C) is strong

Options :
212807112317. 1



212807112318.2
212807112319.3
212807112320. 4

Question Number : 130 Question Id : 21280728080 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

el SIR shlers H U feas wAH o forg ghen diearted foran s =nfew | Foafafaa 5 & &ia |1 oA

T Tk 1 Yoo L 2

(A) TH YR S SRS Fawsii 31 a0 1 3 @l o AFTEH I 7eed o ol ST o § o #am
ez k1 i e

B) it U for Scma 1 A A SR S ST o H $ off Tor T F

C) 3wl it st | BE % S Y e FE S

) % (A) 3R (B) Ted B

2)  Fad 7 (A) U9 T

) @ (B) R (C) TuA Tl

(4) A Tk (C) ¥ad 2 |

Options :

212807112317. 1
212807112318. 2
212807112319.3
212807112320. 4

Question Number : 131 Question Id : 21280728081 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

How many cubes are there in a group ?

(1) 10
2) 16
(3) 18
(4) 20

Options :

212807112321. 1
212807112322.2
212807112323.3
212807112324. 4



Question Number : 131 Question Id : 21280728081 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

IR HfFH AT ?

(1) 10
() 16
3) 18
4) 20

Options :

212807112321. 1
212807112322.2
212807112323.3
212807112324. 4

Question Number : 132 Question Id : 21280728082 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Clothes are not washed properly in hard water.
Reason (R) : Hard water contains many minerals.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

212807112325. 1
212807112326.2
212807112327.3
212807112328. 4

Question Number : 132 Question Id : 21280728082 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




=1 <1 e feu o € e eifueRem (A) % 9 H fafed § o 98w 39% R (R) F 9 H T
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(1) (A) T (R) SHI T&T € 741 (R), (A) il T =0 ¢

(2) (A) T (R) 1 TET € o1 (R), (A) FT L A0S T ©

3) (A) FE & A (R) & 761 §

(4) (A) T 7 g dfeh (R) Wl ©

Options :

212807112325. 1
212807112326. 2
212807112327.3
212807112328. 4

Question Number : 133 Question Id : 21280728083 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Complete the picture series :

V

-~

(4)

>
@@@@@

Options :
212807112329. 1



212807112330. 2
212807112331. 3
212807112332. 4

Question Number : 133 Question Id : 21280728083 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Tt «j@at &1 9 e :

~

Alla|[V

(4)

\4
A4
A\
v

Options :

212807112329. 1
212807112330.2
212807112331. 3
212807112332. 4

Question Number : 134 Question Id : 21280728084 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Select the figure from the options which will continue the series established by the problem figure :

—

(1)

.
O —
M=
(4) ‘ | ‘ |

212807112333. 1
212807112334.2
212807112335.3
212807112336. 4

Question Number : 134 Question Id : 21280728084 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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(2)
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E
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(4)

Options :

212807112333. 1
212807112334.2
212807112335.3
212807112336. 4

Question Number : 135 Question Id : 21280728085 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

If EFFECTIVE is coded as FEGDDSJUF, then how RELATIVE can be written in that code ?
(1) TDNZVHXD

(2) TCNAVGXC

(3) SDMZUHWD

(4) SCMAUGXD

Options :

212807112337. 1
212807112338. 2
212807112339.3
212807112340. 4

Question Number : 135 Question Id : 21280728085 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :



Key Value
Comprehension MCQ

7fq EFFECTIVE %1 FEGDDSJUF & &9 H &2 919l § for@n Sl €, 98 RELATIVE okl ehd &2 el |
feran s ?

(1) TDNZVHXD

(2) TCNAVGXC

(3) SDMZUHWD

(4) SCMAUGXD

Options :

212807112337. 1
212807112338.2
212807112339.3
212807112340. 4

Question Number : 136 Question Id : 21280728086 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Find the next term in the alpha-numeric series :
Z1A, W8C, T27E, Q64G, N1251, _ 2?2
(1) K21eL
(2) K216K
(3) L343K
(4) L343L
Options :
212807112341 1
212807112342.2

212807112343.3
212807112344. 4

Question Number : 136 Question Id : 21280728086 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
e <t I SEen | e ug 9 Y
Z1A, W8C, T27E, Q64G, N125I, _ 2
(1) K216L
(2) K216K
(3) L343K
(4) L343L
Options :

212807112341. 1
212807112342.2
212807112343.3
212807112344. 4

Question Number : 137 Question Id : 21280728087 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ

What can be placed at “?” if both side of “: " have same relationship between numbers :
85 :42::139: _ %

(1) 68
(2) 69
3) 70
4) 67

Options :

212807112345. 1
212807112346. 2
212807112347.3
212807112348. 4

Question Number : 137 Question Id : 21280728087 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

‘2 S T UL T AT, SFR " G OO & Seed H gy U ST B
60 4210139y _ 7

—

(1) 68
2) 69
3) 70
4) 67
Options :

212807112345. 1
212807112346. 2
212807112347.3
212807112348. 4

Question Number : 138 Question Id : 21280728088 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Following question is based on the information given below :
(i) ‘RxS means R is father of &

(i) ‘R—S5 means ‘R is sister of &’

(i) ‘R+S means ‘R is mother of &

(iv) ‘R+S means ‘R is brother of &

In the expression A+ BXC+D how is C related to A ?

(1) Son

(2) Grandson

(3) Granddaughter

(4) Grandmother
Options :

212807112349. 1



212807112350. 2
212807112351. 3
212807112352. 4

Question Number : 138 Question Id : 21280728088 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

frefeafad gea == <t &0 SR 9 ST 2
(i) RxSwH 34 R,S o &

(i) R-SH 3T R SH o&TT

(i) R+SH A, R, S hl AT T

(iv) R+SH 34T R, S 416 2|
sifeafsd A+BxC+D H C, A ¥ forg =R Heifud 21
(1) 3

(2)

(3)

(4) =

Options :

212807112349. 1

212807112350.2

212807112351. 3
212807112352. 4

Question Number : 139 Question Id : 21280728089 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

If Today is Monday, After 62 it will be :
(1) Wednesday
(2) Saturday
(3) Sunday
(4) Thursday
Options :
212807112353. 1
212807112354. 2

212807112355.3
212807112356. 4

Question Number : 139 Question Id : 21280728089 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




fg o7Te AHaR €, 62 f&AT & 918 790 B9

(1) F¥aR

(2) wIfHeR

CIEEIL

(4) FEHfdER
Options :
212807112353. 1

212807112354.2
212807112355.3
212807112356. 4

Question Number : 140 Question Id : 21280728090 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A clock is started at noon. By 20 minutes part 6, the hand had has turned through :

(1) 175°
(2) 180°
(3) 185°
4) 190°
Options :

212807112357. 1
212807112358.2
212807112359. 3
212807112360. 4

Question Number : 140 Question Id : 21280728090 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
e TS SR o 9T IE g8 | 6 dutt 20 e 9 HE kT gE fohae g gt 2T
(1) 175°
(2) 180°
(3) 185°
(4) 190°
Options :

212807112357. 1
212807112358. 2
212807112359.3
212807112360. 4

Question Number : 141 Question Id : 21280728091 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Who has been honoured with the Golden ball award in the FIFA World Cup 2022 ?
(1) Kylian Mbappe
(2) Luka Modric
(3) Lionel Messi
(4) Enzo Fernandez
Options :
212807112361. 1
212807112362. 2

212807112363. 3
212807112364. 4

Question Number : 141 Question Id : 21280728091 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

i fava Y 2022 H ford Tiiee od sfeme § gt fon T ?
(1) Terforem Taam

(2) T HifgH

(3) fordra A

(4) TS EAES

Options :

212807112361. 1
212807112362.2
212807112363. 3
212807112364. 4

Question Number : 142 Question Id : 21280728092 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The 73" Amendment granted constitutional states to the Gram Sabha.

Reason (R) : The Balawant Rai Mehta committee mentioned the Gram Sabha.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3)  (A) is true but (R) is not false

(4) (A) is false but (R) is true

Options :

212807112365. 1
212807112366. 2
212807112367.3
212807112368. 4



Question Number : 142 Question Id : 21280728092 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

e < wyA feu e E: v feRed (A) % w9 | fafad § ot <9 39 @I (R) F €9 H T
AFHRAT (A): 73 & HIMHA o g UTH HAT h1 HAHeh =1 fad1 0|

HRT (R) : sereid T Hedl wiafa 3 am g 6 Sfeate fean

IR KUl F YR H, 74 U 7 faskedi § § Haifesr Suge 36 1 997 Fif

(1) (A) T (R) S TET € 9901 (R), (A) FI T & ©

(2) (A) T (R) T TE E T (R), (A) FT TE =S TE ¥

(3) (A) 5@l g dferd (R) T8 721 8

(4) (A) T 7 g dfeh (R) Wl ©

Options :

212807112365. 1
212807112366. 2
212807112367.3
212807112368. 4

Question Number : 143 Question Id : 21280728093 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The 36t National Games 2022 was held in which of the foliowing gtate ?
(1) Goa
(2) Gujarat
(3) Haryana
(4) Karnataka
Options :
212807112369. 1
212807112370. 2

212807112371. 3
212807112372. 4

Question Number : 143 Question Id : 21280728093 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

36 91 UL Wal 2022 %A § T4 H RfS gt ?

(1) e
(2) TSI
(3) =i
(4) HAlR®H



Options :

212807112369. 1
212807112370. 2
212807112371. 3
212807112372. 4

Question Number : 144 Question Id : 21280728094 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Who among the following gave the popular slogan “Home Rule is my birthright and I will have
it’ 7

(1) Annie Besant

(2) Lokamanya Tilak

(3) Dadabhai Naoroji

(4) Aurobindo Ghose

Options :

212807112373. 1
212807112374.2
212807112375. 3
212807112376. 4

Question Number : 144 Question Id : 21280728094 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

e TR 9 g eIt g 1 38w '’ fefated | 9 fege disfim A e ?
(1) T eEe

(2) R faaes

(3) REIVE TS

(4) orfeel =

Options :

212807112373. 1

212807112374.2

212807112375.3
212807112376. 4

Question Number : 145 Question Id : 21280728095 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




Match List - I with List - 1L
List - I
(A) First speaker of Lok Sabha
(B) First Indian to get Bharat Ratna Award

(C) First Indian recipient of Nobel Prize in Economics

(D) First Indian Nobel Laureate

Choose the correct answer from the options given below :

(1) (A)-), (B)-m), [©)-@), (D)-(IV)
(2)  (A)-D), (B)-10), ([©)-1V), (D)-[0)
(3)  (A)-(1D), (B)-(11), ©)-@), (D)-(IV)
(4)  (A)-IV), (B)-(ID), (O)-(I), (D)-(IT)

Options :

212807112377. 1
212807112378.2
212807112379.3
212807112380. 4

List - IT
) Dr. Amartya Sen
I) G.V. Mavalankar
I) Dr. S. Radhakrishnan
IV) Rabindra Nath Tagore

Question Number : 145 Question Id : 21280728095 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

el - [ 61 Tl - 11 o |1 T shifeg
et - 1
(A) AFHT R Yge TR (316981)
(B) Ugel WRdrd 8 vRa T ger fean =
(C) UBel YRAE fH A9 o Alee [EhR 9 g31l
(D) TRl YRAT Arsiel G fasid
e feu 7 fawedi | 9 W&t W F T R

(1) (A)-1D), (B)-(I0), (©)-1), (D)}-(IV)
(2) (A1), (B)-(L), (©)-1V), (D)-[I)
(3)  (A)-(10), (B)-(1), (O)-(1), (D)-(IV)
(4)  (A)-AV), (B)-(IH), (O)-(1), (D)-(1)
Options :

212807112377. 1
212807112378.2
212807112379.3
212807112380. 4

Question Number : 146 Question Id : 21280728096 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Ministry of Health and Family Welfare has launched “Nikshay Poshan Yojana’ related to eradication
of which of the following disease ?

(1) Dengue
(2) Malaria
(3) Tuber colosis

(4) Kala-Azar

Options :

212807112381. 1
212807112382.2
212807112383.3
212807112384. 4

Question Number : 146 Question Id : 21280728096 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

‘Tameey Ue R e Haerd’ gR wifud e v Fsen s Hl fomrl o e o fad g% o
T off ?

(1) <71
(2) W
(3) S[EEAIEH
(4) RICT-3TSR
Options :
212807112381. 1
212807112382.2

212807112383.3
212807112384. 4

Question Number : 147 Question Id : 21280728097 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The fibre crop which is known as the Golden Fibre ?
(1) Cotton
(2) Hump
(3) Natural Silk
(4) Jute
Options :
212807112385. 1
212807112386. 2

212807112387.3
212807112388. 4

Question Number : 147 Question Id : 21280728097 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




[Comprehension IMCQ

Tieed BEs & 9 9 vafed wEd & &9 § {68 511 311 2 2

(1)

(2) BH(HT)
(3) e T
(4)
Options :

212807112385. 1
212807112386. 2
212807112387.3
212807112388. 4

Question Number : 148 Question Id : 21280728098 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

The Credit of inventing soap by using Mustard oil and some alkalies goes to which of the following
scientist ?
(1) Chakrapani
(2) Sushruta
(3) Nagarjuna
(4) Patayjali
Options :
212807112389. 1
212807112390. 2

212807112391. 3
212807112392. 4

Question Number : 148 Question Id : 21280728098 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Tl & de SR FH &Y w1 IYAN Fk dEA F AfaeRR w0 @ 49 fefafed § 9 fea daftre #
ST 8 2

(1) =shRaIo

(2) 944

(3) RIS

(4) Hesife
Options :

212807112389. 1
212807112390. 2
212807112391. 3
212807112392. 4

Question Number : 149 Question Id : 21280728099 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - IL

List - 1 List - II

(World Organization) (Headquarters)
(A) BRICS ()  Geneva (Switzerland)
(B) NATO (I) Shanghai (China)
(C) WTO (II) Kathmandu (Nepal)
(D) SAARC (IV) Brussels (Belgium)

Choose the correct answer from the options given below :
(1) (A)-D), (B)-(1v), (O)-(0), (D)-(IL)

(v
(2)  (A)-(IV), (B)-(ID), (C)-(D), (D))
(3)  (A)-(I), (B)-(IV), (©)-(D), (D))
(A)-~( )

(4)  (A)-1D), (B)-IV), (C)-(1L), (D)-{

Options :

212807112393. 1
212807112394.2
212807112395.3
212807112396. 4

Question Number : 149 Question Id : 21280728099 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

el - [ 61 Tl - I o |1 T ifeg

A1 Tell-11
(fava wwe) (e )

(A) Tfs= (BRICS) (1 e (fagswele)
(B) FEl (NATO) () e (=)

(C) T3 (WTO) (III) FISHIZ (F9Te)
(D) ¥ (SAARC) (IV) g9a (dfesmm)

= fou T famedl O O & ST F T FHISC
(1) (A)-(ID), (B)-(1V), (O)-(0), (D)-(I)

(@) (A)-1V), (B)-11), (C)-(1), (D)-
(3)  (A)-(10), (B)-AV), (C)-(D), (D)-
4)  (A)-11), (B)-AV), (©)-(I), (D

Options :

212807112393. 1
212807112394.2
212807112395.3
212807112396. 4

"
" e e
1 —
[
= =
e



Question Number : 150 Question Id : 21280728100 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The only continent through which Tropic of Cancer, Equator and Tropic of Capricorn passes ?
(1) Asia

(2) Australia

(3) Antarctica

(4) Africa

Options :

212807112397. 1
212807112398.2
212807112399. 3
212807112400. 4

Question Number : 150 Question Id : 21280728100 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

THIF 1 HETE § e b, FeRE SR e T € 7
(1) Tfrn

(2) Ao

(3) sicrhfeem

(4) STHIHI
Options :

212807112397. 1
212807112398.2
212807112399. 3
212807112400. 4

Question Number : 151 Question Id : 21280728101 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Given below are two statements :

Statement (I) : Right to information has been granted to every citizen of India under Right to
information Act, 2005 which came into force on 121 October, 2005.

Statement (II) : Right to information is a fundamental Right.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement 1I is false
(4) Statement I is false but Statement II is true

Options :



212807112401. 1
212807112402. 2
212807112403. 3
212807112404. 4

Question Number : 151 Question Id : 21280728101 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
== 1 %A fou U g

HUA () : I & AMYHR AT, 2005 * Harid YR & JASF TRIF 1 A1 1 AfYRR fg7r 72
¥l ST 12 STRSR, 2005 T AR g

HAT (I1) : G H1 ATIFR T Hifcrss SIewr 21

IHIE YA o e |, 49 fqu U fashedi § ¥ W&t ST 994 i :

(1) w9 I 3R ReF I <91 91 ©

(2) I 3R HAT [ SHI STHA T

(3) hFIHA B, U e I 379 §

(4) HUF I IEA T, Afhd R 1 A 8

Options :

212807112401. 1
212807112402. 2
212807112403. 3
212807112404. 4

Question Number : 152 Question Id : 21280728102 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - IL
List - 1 List - II
(Important Days) (Date)
(A) National Youth Day @) 28" February
(B) Army Day (I) 12" January
(C) National Science Day (II1) 15 January
(D) National Safety Day (IV) 4th March

Choose the correct answer from the options given below :
(1) (A)-D), (B)-(1), (©)-(1V), (D)-[0)
(2) (M-, B)-(10), (©)-1), (D)-(IV)
(3)  (A)-(I), (B)-(ID), (O)-(1), (D)-(IV)
(4)  (A)HIV), (B)-(IH), (O)-(0), (D)-(I)

Options :
212807112405. 1
212807112406. 2



212807112407. 3
212807112408. 4

Question Number : 152 Question Id : 21280728102 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

el - [ 61 it - 11 6 |1 fHel i

-1 -1
(et foaw) (fafer)

(A) T Fa feew (D 28th wEEd
(B) 9 feew () 12t SR
(C) U fogr fead () 15t SHERt
(D) U Hean fearg (IV) 4th 79

= feu e faeredi § 9 OE S &1 999 Fif9C ;

(1) (A)-(0), (B)-(), (©)-(1V), (D)-(0)
(2)  (A)-(D), (B)-0), ©)-D), (D)-(IV)
(3)  (A)-(D, (B)-(I ) ©-@), (D)-(IV)
(4)  (A)-IV), (B)-(I), (O)-(1), (D)-(1I)
Options :

212807112405. 1
212807112406. 2
212807112407. 3
212807112408. 4

Question Number : 153 Question Id : 21280728103 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The first person to use crystal for radio wave detection was :
(1) J.C. Bose

(2) H.C. Verma

(3) S.N. Bose

(4) C.V. Raman

Options :

212807112409. 1
212807112410.2
212807112411. 3
212807112412. 4

Question Number : 153 Question Id : 21280728103 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Ifedl T 1 g T o fau foree o1 SUART R gl gea Safad 9 ¢
(1) SILH. §"
(2) u=HH. Al

(3) TEW. SH
(4) i T
Options :

212807112409. 1
212807112410.2
212807112411. 3
212807112412. 4

Question Number : 154 Question Id : 21280728104 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the planet have no satellite ?
(A) Mercury

(B) Neptune
(C) Satrun
(D) Venus

Choose the correct answer from the options given below :
(1) (B) and (D) only

(2) (A) and (B) only

(3) (B), (C) and (D) only

(4) (A)and (D) only

Options :

212807112413 1

212807112414.2

212807112415. 3
212807112416. 4

Question Number : 154 Question Id : 21280728104 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




H | g H FHE STIE el ¢ |

(A) 98

(B) @&
(C) =
(D) Th

= feu Tu fasredi § 9 W& 3T 1 997 HifaT
(1) e (B) 3R (D)

(2) “had (A) 3R (B)
(3) e (B), (C) ¥R (D)
(4) e (A) 3 (D)
Options :

212807112413. 1
212807112414.2
212807112415.3
212807112416. 4

Question Number : 155 Question Id : 21280728105 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

ISRO Launched “GSAT-6A" satellites on :
(1) 31 August, 2017

(2) 29 March, 2018

(3) 05 June, 2017

(4) 12 January, 2018

Options :
212807112417. 1
212807112418. 2

212807112419.3
212807112420. 4

Question Number : 155 Question Id : 21280728105 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

SIHE (GSAT)-6A SHU o 5T &hd Ya&ifud foman 1 :
(1) 31 ¥, 2017

(2) 29 =M, 2018

(3) 05 S, 2017

(4) 12 SHe, 2018

Options :

212807112417. 1
212807112418. 2
212807112419. 3



212807112420. 4

Question Number : 156 Question Id : 21280728106 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - II.
List - 1 List - II
(Name of City) (Famous for production of)
(A) Ahmedabad (I)  Machine tools
(B) Bangalore (II)  Aluminium
(C) Bhilai (III) Textiles
(D) Renukoot (IV) Steel

Choose the correct answer from the options given below :

(1) (A)-(0), B)-(ID), (O)-(I1D), (D)-(IV)

(2) (A, (B)-(I), (©)-1V), (D)-@)
3)  (A)-ID), (B)-(I), (O-(IV), (D)-(I)
(4)  (A)-IV), (B)-(I), (©)-1I), (D)-(0)
Options :

212807112421. 1
212807112422.2
212807112423. 3
212807112424. 4

Question Number : 156 Question Id : 21280728106 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

-1 § Geit-11 1 e i
5 T-11

(I % W) (Iare & fo ufg)
(A) STEHSHR 1) w9 A
(B) sTER 1) uegEfE
(C) fTyem (Ill) CFIeTEA
(D) ¥T%e (V) e
A= feu U faredi ¥ 9 WEr S h1 994 HiIT9U ;
(1) (A)-(D), (B)-(II), (O)-(11I), (D)-(IV)
(2) (A)-1I), (B) (HI) (C)( ) (D)-(I)
(3)  (A)~(IID), ), (O)-(IV), (D)~(IT)
(4) (A)-(IV), ( )(HI) (C)( ) (D)-O
Options :

212807112421. 1



212807112422.2
212807112423.3
212807112424. 4

Question Number : 157 Question Id : 21280728107 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The constitution authorises the president to make provisions for discharge of duties of Governor in
extraordinary circumstances under the :

(1)  Article 160
(2) Article 162
(3) Article 165
(4)  Article 310

Options :

212807112425. 1
212807112426. 2
212807112427. 3
212807112428. 4

Question Number : 157 Question Id : 21280728107 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

ofgurm efa & sraem afifeafadi § o & wdedi & e s9 % fau geam
Af¥a e T

(1) =8 160

(2) STT=% 162

(3) =% 165

(4) =R 310

Options :

212807112425. 1
212807112426.2
212807112427.3
212807112428. 4

Question Number : 158 Question Id : 21280728108 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Who was the Chief Justice of India when public interest litigation (PIL) was introduced to the
Indian Judicial system ?

(1) M. Hidayatullah

(2) AM. Ahmadi

(3) P.N. Bhagwati

(4) A.S. Anand



Options :

212807112429. 1
212807112430.2
212807112431.3
212807112432. 4

Question Number : 158 Question Id : 21280728108 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

LA ~1reR JuTled! Tel Sifed Af=eht (PIL) 1 @R] fohar 741 o1 39 999 YRd o & = H 9 ?
(1) uAfearrgeen

(2) TUUH HEHS

(3) HLEA. e

(4) TUHE g

Options :

212807112429. 1
212807112430. 2
212807112431. 3
212807112432. 4

Question Number : 159 Question Id : 21280728109 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Polar areas have high atmospheric pressure.
Reason (R) : These areas receive minimum sunshine throughout the year.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

Options :

212807112433. 1
212807112434.2
212807112435.3
212807112436. 4

Question Number : 159 Question Id : 21280728109 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




=1 <1 e feu o € e eifueRem (A) % 9 H fafed § o 98w 39% R (R) F 9 H T
ke (A) : Y9 €60 W 3= IAVEH S9F B 2

HIOT (R) : T &3 g Y A WIS U I B

ST FUF F yHW H, 9 fau T famed ¥ w9 39 W= Hif

(1) (A) 7 (R) S Tl € 9901 (R), (A) i HE =amen &

(2) (A) T (R) < HE € AR (R), (A) FHT HE =0 T ©

(3) (A) W& g «ifr (R) W& 71 €

(4) (A) 9@l & € «ifeh (R) W1 8

Options :

212807112433. 1
212807112434.2
212807112435.3
212807112436. 4

Question Number : 160 Question Id : 21280728110 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The first satellite in space was launched by :

(1) US.A.
(2) United Kingdom
(3] LS8R,
(4) France
Options :

212807112437. 1
212807112438.2
212807112439. 3
212807112440. 4

Question Number : 160 Question Id : 21280728110 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
siafie # vgen IWE fhas g Sier T
(1) FTEw,

(2) IiEee fHmed
(3) T THTH.IR
(4) wE

Options :

212807112437. 1
212807112438.2
212807112439.3
212807112440. 4



